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ZHE FERRRE FBRZPE MAFERZE B 14 S R B BHNAEIS
1 [fEATEET 298| 8m 18.6|FE ™ 100.0| Bk 0.34 | AFEHRT 20.0| = A FEHET 100.0
2 |tREHET 20.9 |42 H+ 18.2|B I+ 100.0| &% 0.19|83k™ 8.3|Bk ™ 100.0
3 |&F0ET 17.6 |82 RAET 13.0 LU/ ET 100.0| &= AFEHET 0.16|RE ™ 5.6|REH 100.0
4 | XKEEF 15.9 | SR i 11.0)/N1 4+ 100.0| & 0.00| & H 0.0 |h&H MARREL
5 |2ER 14.8| 1L/ NET 10.5|/NrERT 100.0|#RPI4F 0.00|#BF+f 0.0 |#RFIHF MARRLL
6 [deAEARH 14.7 #2187 8.2|BAN 100.0| 1L/ N HET 0.00| /BT 0.0 |/ RNET NAFEREL
7 |fRARET 14.21/NIA 8.1| Atk h 100.0|/IN11AF 0.00|/M J1I#+ 0.0 |/I\)I1#%+ MAFREL
8 |BrEIfT 13.4| KHETTH 6.8 9 I+ 100.0|/N R B BT 0.00)/Nfr BT 0.0 |/NfakERT MAFREL
9 [#A)IET 13.1 [/NFRRERT 5.1 (=LAt 100.0|BAA 0.00| B A+ 0.0 [BAK BAFEREL
10 |#RF+ 12.8|BAF 4.3|8R ST 100.0{ =114+ 0.00| &)1+t 0.0 | )14 MARREL
11 |FEtkst 12.6| B3R 4.0|HAb+t 100.0| = WuAf 0.00| &L+t 0.0 |E s MARREL
12 [/ 12.3| )14 3.9|paI Eg AT 100.0| 8k SHT 0.00|8R &/ 0.0 |tR&HT MAFERBL
13 [thFET 11.9[Z w4t 3.4| EFNET 100.0| 513 4f 0.00| # b4t 0.0 |&dtst MARREL
14 |1+ 11.8|REH 3.4|{E A TERET 100.0| I Bg BT 0.00 | Bry = BT 0.0 |FIEgET MAFRBL
15 | P8 11.6|8R SR 3.0 | B #mET 85.7| & FNET 0.00| & FnET 0.0 [EF0ET MARREL
16 [+ 11| 8aR 26|REH™ 77.8| SR AT 0.00| BT 0.0 |BRimET MAFREZL
17 | S 7&HAT 10.8 |t FHHET 2.6 | %) IIBT 52.2| )BT 0.00|#2J11B1 0.0 [#)IIET MARRLL
18 [/NrElT 1075404 19|12+ 500|E2EF 000|284 00 |2EF MAFREL
19 [HEAT™ 9.7 | B Ea BT 1.8| KETTH 42 9| KR 0.00|KHT™H 0.0 [KET/I BAFEREL
20 |KETTH 9.4| K F0AT 14|83 RAT 0.0| 8 FRET 0.00| &8 F R ET 0.0 |BHRHT | »ARESBL
21 |[&Es 8.6 | 1k AFEHET 0.8 ;th FHET 0.0|;ts AT 0.00|;th FHET 0.0 [}t FHET MAFRLL
22 /A ET 8.5| KFEA 0.0| X #EH EL LAV ES 0.00| K&+t EL LV ES HAFEREL
23 | Bk 8.3 | AF 0.0|desEAK E LV E BN 0.00|de#aAF EREROL[JLAEARN | REREL
24 |REBHR 5.9|E#At 0.0|matAt EERLL BB 0.00|F%Ad ERERLL BB MARRLL
25 |=@Es 5.7 |5z 0.0| & ZxAT zrkel | SHRET 0.00| & ZfT zrkel | SHRET MhFREL
26 |FAK 5.1 fEAT 0.0[{EAT ES YN 0.004EA T e YN MARREL
27 |E ™ 47| RER 0.0|REH =RERELIRER 0.00|=EH BEHRLL|REN MARRLL
28 |ERHIRET 46|=HA 0.0|=H+ ERRsL| AN 0.00| =@+ kel E AR MARREL
29 | KRBT 2 4|FEARAT 0.0|FEARA ERERAL|FEARK 0.00|FE AR+ BEHREL| AN MARRLL
30 |EgtEAH 1.3| =™ 0.0| Z= eV ET ) 0.00| =1 EL LV ET ) BAFEREL
31 |BAN - EERAARAL 0.0|EFHEAK EEaoL|EARN 0.00|EfAARA EREROLIEAAN | AAEREL
EHE 54 |RHE 33 |EHE 75.2 |[REFE 0.06| REFIE 19 |[RHE 100.0
HAAE 71%U T [E s 90%1 k| # 1 0.13%1 E = 1.9%51E
X1 FHAAXEEHBERET DN TES LSS
X2 HEEFEOHE AARDEEOHYAICEATIRARMNARZEEDHYAIZDNTI(HHEF6A)
PHEB2EDIEIZERA, BEEHLTOITERNEEGBL TS,
X3 BRI FEICLYREETFT DA H DI AORRONSOTHETA) 28, COREAVVEZIBMERICETTEEET 2,




